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QUESTION 1

Which two modifications can the Impact Analysis component make to a security event that failed in IBM SiteProtector
3.0 Security Fusion Module? (Choose two.)

A. Block the event

B. Change the priority of the event to Low

C. Change the priority of the event to High

D. Increase the severity of the event to one level
E. Decrease the severity of the event to one level

Correct Answer: BE

QUESTION 2

How many Component Rules can be created in IBM SiteProtector 3.0 Central Responses?
A. 80

B. 100

C. 120

D. 150

Correct Answer: B

QUESTION 3

What does the color black that appears next to a top level Permission property window in the IBM SiteProtector
indicate?

A. Permission inheritance is turned on for this asset group.

B. All the individual permissions in that category are assigned to a user or group.

C. None of the individual permissions in that category are assigned to the user or group.

D. Some of the individual permissions in that category are assigned to the user or group, but not all.

Correct Answer: B

QUESTION 4

Which policy is used to the configure the amount of time events are kept?
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A. Advanced Purge

B. Event Archive Settings

C. Data Retention Settings
D. Maximum Database Sites

Correct Answer: C

QUESTION 5

What is the likely cause when the Application Server service fails to start?

A. The Create Tables function failed.

B. The cache of the Application Server is full.

C. The Application Server password is incorrect.

D. In the IS manager, the office server web services is running on the wrong SSL port (433).

Correct Answer: B
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